4 F 7T 4 BE KR T 0D BA BUIRS
SHTFEERHOSMTE AOBREDF HHTRRESMSLLET,
1. —BESFHFPREOMITRE

B A (B-F M) % W (B4 F M)
® B FHEIREHEE| UIRAFEEE | IRAZE (%) ]l B FHIVEEE| ZIHELE | MTE(%)
1 BT Bi| 525403| 356,891 67.9 1% 2 =B 63,822 34,336 538
24 HE 5 B 21,587 6,038 28.0
SR FERM2 1046 261 250 2% B F| 1040654] 324179 31.2
4 EE % %IJ § 171- ﬁ 1,1 18 244 218 3 E EE % 729,676 212’924 292
5 #AFREFRSIR LS 822 0 0.0
6 A EBERE TS 75,845 54,124 714 A £ B 459747 241012 52.4
7 gg]iﬂyigfﬁiﬁﬁ'ﬁ 2,331 2,157 925 5 r‘j—‘J‘- Ej] % 5’723 689 120
S T ETEREETXT
g = IZReRICT 1,795 0 0.0
9 5 BIR A& 2275 2275 100.0 6 RMOKEXRSE| 521659 188,505 36.1
10 #1875 3+ Bi| 1528,907| 1,100,350 72.0 7% T B 234398] 105478 450
11 TERERERHE 1 0 0.0
12 HESRUERES 19,050 8,530 44.8 8+ KX #H| 401627 30,309 75
HWEEXH £ 376,327 55,861 14.8
158 % W 2| 757,968 16,960 22 0% &  #| 306308 106386 347
17 & Bt o 7,325 750 10.2
184 A £| 976832] 539,000 55.2 125 X i £ 256196 253716 99.0
19 # £ 33,425 33,425 100.0 3% & = 19,631 0 0.0
20 IR A 147,640 34,821 236
21 BT 5 958274 0 00 =1 g 4,792,734 1,896,156 39.6
& it 4,792,734 2,240,814 46.8
2. BRSH tEESHTFREOHITRR
B A (B-FM) % W (B4 F M)
= i R 5 |FTHIERFEE IRAFE | INAZE(%) = B R 5 | FEHIEE| XHFE |BITE(%)
ERERERERE 809,980 187,380 23.1 EREEERENS 809,980 192,539 238
NERKRENEFH 570,906 230,031 40.3 NERERERN & 570,906 235,264 412
TAKEEZER S 226,911 10,481 46 TFTAREEEENSEH 226,911 62,132 27.4
BYEREERSNSE 46,568 16,756 36.0 “HEREEREIRG 46,568 11,344 244
KEE ¥ £ i 197,632 71,828 36.3 KE F £ £ 330,050 64,314 19.5
& it 1,851,997 516,476 27.9 & H 1,984,415 565,593 285
3. ATEMEOKR 4. IEQOKR
iz Al B " 5 £ 3 X % B "5 =
+ i#h 4,841,706 m - fi% = g 3,739,459 FH
e ) 59,421 m TKKEEZEEH AN £ F 1,349,105FH
g #* =3 1,020,605FH XK & F E £ i 631,351 FH
H ol 3,346,286 F M & Hi 5,719,915FH
5. —BEALDERES 0FH
6. IRSHEOWKNR
X » ¥ & 1§ % BTR1 ALY THF LY A O 5244 A
BT R & 231,511FH 44,1480 91,651 |51 2,526 o
E & & E KR 232,176 FH 44,274 91,915 | X EELOHR., #HEL-UDLET
BT 1= (£ = B 48,653 FH 9,278 19,2610 | EIRFHEEBZENENDOABTRRLL:
ZD D ETE: 13,063 FH 2,491M 51710 | D= RABELFIERYFET.
& it 525,403FH 100,191H 207,998 | OfiLveéht TERER MBR




